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This question paper contains FOUR sections and you have to answer all questions in the OMR
answer sheet Section "A" Mathematics contains 50 questions of 3 marks each. Section "B8" GK,
'C' Language and 'D' Intelligence contains 25 questions of 2 marks each respectively. Section C
s language specific and is to be attempted in the chosen language.
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5 e WA F FAT UFH A G Ieal & | WedkE U F Ical & fAU Fae U IATer 6 | afE 3=

U & SATET I Y HI A I & Fead et ATl AT |

There is only one correct answer for each question. Darken only one bubble for each question.
If you darken more than one bubble, your answer will be treated as wrong.

3. 3THIT (OMR) et QFERT FFeged & 2@y S Seah | Fraeied] ael (3 §3 et YRt

ﬂmmmmamﬁmwwwﬁmmaﬁ.mmmmm !
Evaluation of OMR answer sheet will be done on a computer. Be careful and ensure no un-

necessary marks on the OMR answer sheet/ fold or attempt to deface the OMR answer sheet,
otherwise it will not be evaluated.

4. T FIF 7T UF & WY wa @rel guat & & Y, 7 [ 3ot g A
Rough work must be done on the additional sheet only and NOT on OMR answer sheet.

§ WYAT TeAT FTAT AT el Ty ard O A & 7Y | I T wAIT A

Write your answers in Blue/Black ink only. Do not use pencil.

8, mwﬂﬁmm.snmawﬂgm 329%5 ¢ |
There are total 32 pages in the question paper.
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3 Class VI - SET A

A1 & 39T e & fIT 3 #Hiex 20 HAHRT F93T 3R T Tl & v 2 AT 5
FEART FOS WET| ITS TaRT TS 37T FYS H el FGT$ AT HIAT

Naveen bought 3 m 20 cm cloth for his shirt and 2 m § cm cloth for his trousers.
Find the total length of cloth bought by him.

(@) 5.7m (b) 5.25m (c) 4.25m (d) 5.00m
3, 4 3 O &1 FH ¥ HH AT IVHGA (T HLUH) §

The least common multiple of 3, 4 and 9 is

(a) 36 (b) 12 (c) 27 (d) 45

ve AR 5 g 3 240 R/ wer &y 71fY F v AT g aw awar g | s gl
T 1 gﬂﬂﬁmaﬂﬁa:ﬁmsﬁﬁmﬂ%#mmm?

An aeroplane covers a certain distance at a speed of 240 km/h in 5 hours. To
cover the same distance in 1 % hours, it must travel at a speed of ?
(a) 300km/h (b) 360km/h (c) 600km/h (d) 720km/h

'A' 16 &t 3 2 Br 1o wEt & @i 199 ¢ Ror gwar g 3R B 12 RAT F af :
HIH FI FHhal g1 'C' A A F 371 4 Ba A & &7 @ & foam) B 'C o3
Foa R A FH FTEFar g ?

'A' can lay railway track between two given stations in 16 days and 'B' can do the

same job in 12 days. With the help of 'C’, they did the job in 4 days only. Then,

'C' alone can do the job in how many days ?

1 2 3 4
9— days 99— days 9- davs 9— day
(8) 5 (b) 5 (€ 5 @ 5"

HHfa A, Haa F eI Fwor f gew § [Ae goaq &
gear AR 3 § 3ex @@ & g & [v @l
- INHIATT F FEAT FT IS A HAT

In the figure, find the ratio of Number of triangles to the

number of circles inside the rectangle and Number of
squares to all the figures inside the rectangle.

3 & 3¢ &2
(a)%: 7 (b)7+ 7 ©7+7 (d)3,2
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11.

12.

13.

14,

15.

4 - Class V1 -SETA

TA, Mg AR AR 7 TR &1 v o1 | fvan) &1 272 o ) 2t & 38

HHATH ¥4 H ST S & a1 fhasy 9oy #1 o ar ar?

Ram, Rahul and Rohit shared a bag of marbles. The bag contained 272 marbles.
How many marbles were left over after the friends shared them equally?

(a) 90 (b) 91 (c)6 (d) 2

4 Z31+ et T FAET 60 T {1 12.50 T9A A Fas Fa @l F1 e £

Cost of 4 dozens of bananas is Rs 60. How many bananas can be purchased for
Rs 12.507?

(a) 10 (b) 15 (c) 12 (d)18

U FET H 16 ! &1 HEaT a1 50.25 fFatans & 3% 9w 8 T2t F71 357 45.15

fR@TITeT B 1 T8I & T3fr orsah! & 19T a1 &7 9T J9v)

The average weight of 16 boys in a class is 50.25 kg and that of the remaining 8
boys is 45.15 kg. Find the average weight of all the boys in the class.

(a) 47 .55kg (b) 48kg (c) 48.55kg (d) 49.25kg

HS[ U HAATHR 916 & IRY 3R 2t § Fa & Fard 35 ey i aterd 20 &
&1 A 30 MR F T uF A afsdh ¥ e w9 g a7 D ¥ 3k Peaw

CART, TN AF 4 W AN e N AFA3I W qhr ag A & faw #
Manju runs around a rectangular park of length 35m and breadth 20m. Meenu

runs around a square park of side 30m. Who covers less distance and by how
much, if Meenu takes 4 rounds and Manju takes 3 rounds completely.

(a) Meenu, 150m (b) Manju,120m (c) Manju,150m .(d) Meenu,120m

UF Bl A UF 998 F WER # &, Swd v Aol gy @ 370w Fan B

fAmafaf@a & @ Fia ar o) e #1 g sTeR 27

A photo frame is in the shape of a quadrilateral with one diagonal longer than the
other. Which of the following is the possible shape of the photo frame?

(a) Square (b) Rectangle
(c) Rhombus (d) None of these
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16.

L § A

18.

19.

20.

5

22.

5 Class VI-SETA

T NI U FR IR 39F seauiOardt & 3cure gAwm aar 2

The product of a non-zero whole number and its successor is always:

(a) Divisible by 3 (b) An odd number
(c) A prime number (d) An even number

U T 5 W 7 9% FT &7 ¥ T 4016.25 HT YURVT =475 2t &, A FATE?

A sum fetched a total simple interest of Rs. 4016.25 atthe rate of 9 % in 5 years,
What is the sum?

(a) Rs.4462 (b) Rs.8032 (c) Rs.8900 (d) Rs.8925

ST FHT ATH 6 a3t Frar , ar v & grt & e & Fror Fr and
Find the angle measure between the hands of the clock when time shows 6 PM

(a) 90° (b)45° (c)180° (d)270°

6 ¥ Y UF FYA & AT AT P

Find the volume of a cube of side 6cm

(a) 216cm”® (b) 36cm* (c) 72cm’ (d) 108cm®
I 3fF COXXXIX &7 ardta afw W @ifan-

Write Roman numeral CDXXXIX in Arabic numeral

(a) 439 (b) 449 () 529 (d) 539

Ar HEAIHT T IO 1296 &1 AR v A gud & 16 I &) O wEwr A
o)

The product of two numbers is 1296. If one number is 16 times the other, find the
smaller number.

(a) 12 (b)16 (c)4 (d) 9
D aﬂwarmeo*a:r-i-hsaa:t[mmmmmt?

The measure of an angle is ;::- of 60°. What is the measure of its complementary
angle?

(a) 30° (b) 60° (c) 45° (d) 20°

—

|
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23.

24.

29.

26.

27,

28

6 Class VI-SETA

5 675 30T 1.327 ¥ AT | 8.362 3T 7.942 F 3R &I G
Subtract the difference of 8.362 and 7.942 from the sum of 5.675 and 1.327

(a) 6.582 (b) 4.348 (c) 3.982 (d) 4.384

sy iy o s B Sy 26

Find the perimeter of the figure:
4 cm

(a) 51 cm
(b) 52 cm
(c) 53 cm
(d) 54 cm | cm

s@450ﬁnﬁ$ﬁvﬁmﬂmaﬂmmmﬁ gfaad 45% X &

A F T H Y 819 & fAw?

How much time will it take for an amount of Rs. 450 to yield Rs. 81 as interest at
4.5% per annum of simple interest? :

(a) 3 years (b) 4 years (c) 6 years (d) 5 years

v Rrtor #, af @R FUr OE For F 2 I IR AT Por gg5S For
3 T €1 PRST & AT A RS

In a triangle, if the second angle is 2 times the first angle and the third angle is 3
times the first angle, find the angles of the triangle.

(a) 30°, 60°, 90°  (b) 15°,30°,45°  (c)45°,45°,90°  (d) 20°, 40°, 120°

U T FT ATE 616 A 2 ¥ TEaT cOry Ad Pfaw (n' = -272)
The area of a circle is 616cm®. Find its diameter.

(a) 28cm (b) 14cm (c) 56cm (d) 32cm

FF 53.016 F 24 A T & GT HOHA AT HAT
Find the quotient when 53.016 is divided by 24.

(a) 2.29 (b) 2.209 (c) 2.292 (d) 2.029

—
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30.

Y

32.

S

34

32 . Wi ws=aseiT

7 Class VI- SETA

60 #Hex Fars 31t 3 HArey TS &1 v HITTER AT 25 AAT & T TR ZART Fal

frar arar B 59 9U Y g4 & AT 3935 Y S1reT Sreir SrS el S GEAT AT hirAu?

A'rectangular path of 60m length and 3m width is covered by square liles of side
25cm. Find the number of tiles used to make this path?

(a) 2250 (b) 1440 (c) 2880 (d) 1200

475 + 950 FT 64 % =900 + A, H A F TUH 9T BT A & g ?
What is the valueof A in 475 +64% of 950 = 800 + A

(a) 183 (b) 233 (c) 1983  (d) None of the above/ 343 & FIS Far

216, 288 TUT 720 FT RecadH FANIIF FAT 19T ?
What will be HCF of 216, 288 and 7207

(@ 12 (b) 24 (c) 84 (d) 72
FLAFHA FT (106 X 106 - 94 x 94) = ?

Solve (106 X 106 — 94 X 94) = ?

(@ 2400 (b) 2000 (c) 1904 (d) 1906

frelY H&0T A ¥ 600 F 70% = 2y fAgrs uT=r WX 320 wred 8T g, 9%
wEar frae & 2 |

If % of 70% of 600 when subtracted from a number is 320, what is the number ?
(@ 300 (b) 600 (c) 720 (d) 500

Ush BT Rs. 1500 7 @ieaHT Rs. 1650#am=m|nﬁ~’rmaﬁ4m%?

A mobile phone is sold for Rs. 1650 after purchasing it for Rs. 1500. What is the
percentage of profit ?

@ 10 () 15 (c) 20  (d) 16

-

—

collegedunia:s

India’s largest Student Review Platform



35, ﬁﬁﬁmmﬁmzsmﬁ#ww:#mm

aa‘fa:qa’ttwa:éaﬁé’rquﬁﬁ J IEY 22 3F wred U
s e gy 3t 3iF e & 2

In the first test of mathematics a student gets 1
test of same weightage he got 22 marks. What percen

more in the second test 7

Class VI -SETA

greg U
| gay A

8 marks out of 25. In the second
tage of marks did he get

(@) 4% (b) 8% (c) 16% (d) None of the above

36.

grem ?

2ommm18%|mqﬁmﬁﬂsmmm3ﬂme

Average of 20 results is 18. I 3 is subtracted from each result, then what will be

the new average?

(@) 21 (b) 15 (c) 16 (d) 17
% 33
s
37. T Ffard/ Solve >
2¥+1~
3
33
@ 3 ®) 5 ©x @3

If 90.06875 is divided by 15, then quotient is:

(a) 6.0045 (b) 6.0450 (c) 60.0450 (d) 0.6045

9. 246 & fraa ¥FE @A £ ?

How many seconds are there in 24 hours?

@) 30 (b) 60 (c) 3600  (d) 86400

o=

—
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40.

41.

42.

43.

(1)

45.

9 Class VI - SETA

V1089 + 121 & #HIT & /Valueis
(@ 3 (b) 13 (c) 33 (d) 53

afe; ST ABCH FI0T AB TUT C FHAM: 3x, 5x TUT 8x+48 At At o

F AT AT AT

If angles A, B and C in a triangle ABC are 3x, 5x and 8x+4 respectively, then
find all the three angles.

(a) 33,5592 (b) 70,75,35 (c) 90, 75,15 (d) 90,985,100

37800 &I NS IUTES AT § ?
What are Prime factors of 37800 ?

(a) 2 X2X3X3IXS5XS5XTX7

(b) 2X2X2X3X3Xx3X5Xx5x7
(c) 8X27X25Xx7

(d) 2X4X25X27X7

(10% of 3.75 + 15% of 7.25) #r &g & gRafda &¢ / convert into decimal

(a) 1.4625 (b) 14.625 (c) 1.4652 (d) 14.652

FIeA AT HAFHH eI AQh A o1 A1 & AT F AT @Iar g

Which sequence correctly matches these angles with their measures.

i (ii) ~ (i) L (iv) s

(@) (i).(ii), (iv),(ii) (B) = (1), (i), (i), (iv)
(€ (iv), (i), (i), (1) (d) (i), (iv). (i), (ii)
AU ST HEA §, AR I g A e §, at F o ¥R ey |

| am a prime number. If you subtract 2 from me, | become divisible by 7.

(a) 29 (b) 19 (C) 31 (ch) 23
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10 Class VI -SETA

T 46 ¥ 50 F v Mvwfaf@a afesr ¥ ot st g |

For questions from 46 to 50 the following table has to be consulted.

Name of lh; city Tompe_r.awm_at 3 Ai (°-C) Temp;mturn at 3 l;M_(°C)
lLCheﬂn;{“__._ 2_1.1 - 299 I
Mumbai 19.0 it - %

I Thiruvananthapuram | 216 e - ¥
Kolkata . 13.1 e 266

- Bhopal 9.8 SRESY

Srinagar S O ST
Guwahati - 128 A saee

Jaipur_ 10.2 23.2

46. W TUH W HEE 3 & ITIAH dA9AH T |

Which place had the highest temperature at 3 AM ?

(a) Chennai (b)  Thiruvananthapuram
(c)  Srinagar (d) Jaipur

47. NI FPF A TR IR I |

Which place is the coolest at 3 PM ?

(a) Kolkata (b)  Srinagar
(c) Mumbai (d)  Bhopal

48, RT3 TS, Hag A agea MR A e i g 2

How much highér s the temperature in Mumbai from that of Srinagar 2t 3 PM ?
@ B1 (b)) 351 (c) 27 (d) 29

49, Pradaqr A Un%ﬁt#ﬁ-‘amaamg'ﬂ##fﬁmaaﬁgagwmﬁﬂ#m
TSI BT |

How many degrees will the temperature at 3 AM need to fise (or it to
reach 40 degree celsius in Thiruvananthapuram

@ 65 (b) 184 () 216 (d) 335

—
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11 _ | Class VI - SETA

- =9

50. aﬁmaﬁ#mﬂmmmt (3 &5 qalEs vd 3 &t

How much lower is the temperature of Kolkata from that in Chennai at both
times (3 AM and 3 PM) ?

(@) 8%and3.3° (b) 3%and8’

) 8%ands8?® (d 33%and3.3°

| +§ECT|0N B - GENERAL KNOWLEDGE

51, @Iel fAE & w9 of e Sar &7 | :

(a) R fAgy - ? (b) et fAdY | s R
(c) dtexrge fAdr (d) T3 WIS |
Black soil is also known as?

(a) Regur Soil (b) Red Soil

(c) Laterite"Sail (d) Mountain Soil

52. drAfAyfFrdwaTgHe?
(a) BBATT - ;.(b)ﬁﬁl? ]

(c)Pecald ¢ (d)ERR |
PV Sindhu is associated with which sports ?
(a) Badminton (b)  Cricket
(¢)  Football (d)  Hockey !
53, W TXHR & HAET Faws Y S@HTT FiT a1 & ]
(a) ATTHAE (b) THEIH
(O GICIE (d) 350
The Space Programme of Govt of India is looked after by
(@) I1SBT (b) NTRO
() NABARD - (d) ISRO
54.  wr@st Ave uftgrerr B o v &

(a) TATET (b) WETHE!

(c) Teradt (d) @[T |
Bhakranangal Project is built on the river ?

(a) Sutlej (b) Mahanadi

(c) Godavari (d) Cauvery

— - g
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12 Class V| - SET J

55. &« ‘W & wie qow F w®u ¥ W a2
(a) TEART WS ATE (b) T e

() TER ITTWE B (d) |WY 97 A

Who is known as a ‘Iron Man' of India ?

(@) Jawahar Lal Nehru (b) Mahatma Gandhi

(c)  Sardar Vallabhai Patel (d) Subhash Chandra Bose

56.  Zf&yor urw i wad w22

(@) werdr (b) fiiy

(c) HIE=HT (d) TreEd

The longest river in South India is ?

(2a) Mahanadi (b) Indus

(c) Saraswathi (d) Godavari

57. &9 e w Hag & AN F Sr-wy W F 9 ¥ =¥ [/ 6 2
(@) wrE I (b) F U7
() U (d) yedt

Which planet is known as a morning star as well as evening star ?
(@) Mars (b) Venus (c) Mercury (d) Earth

58.  HIEWM H FHI ATWE WG AR T WA FT AHT TT HaTr 2

(a) 3T 23 (b) @ %3

(c) 3meE 29 (d) 3o 2%

Which Article of constitution provides Indian Citizen ‘Right to Equality’?
(@) Article 12 (b)  Article 13

(c) Article 17 (d) Article 14

59. T gwNy T HIH By T W w2

(a) ¥WERmw (b) @AfEaE

(c) Tuywesr (d) ufam dmer

‘Narora' nuclear power plant is located in the state of ?
(@) Maharashtra (b)  Tamil Nadu
(c)  Uttar Pradesh (d) West Bengal

collegedunia:
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v 33

50wt o dRaT gftre sivere 3R A & e ¥

(@) #FaAREr (b) gatT () 39 d) SR
Which of the following diseases spreads through contaminated food and water?
(@) Malaria (b) Cholera (c) Dengue (d) Filaria

61. < gfar = waw == inam -

(a) FremRd Wi (b)  3EHM TR
(c) wewr = (d) it e
Which is biggest desert in the World?

(@) Kalhari Desert (b)  Atakama Desert
(c) Sahara Desert (d) Gobi Desert

62. WEE * T U FE T F w2

(@) 3rEw (b)  SrwUmEeT W

(c) Furas wemr (d) sty wear

Manas national park is located in the state of ?

(a) Assam : (b)  Arunachal Pradesh

(c)  Himachai Pradesh (d) Andhra Pradesh
63. A WA T A T3aTR?

(@) 3T (b) 31ET+ (c) T (d) AFTHE

Which of these grows from the roots?

(a) Potatc  (b) Ginger (c) Carrot  (d) Sweet Potato

64. HEATGT =T 39 ®Y § ot A= Ay -

(a) ervaet (b) ufaw e

(c) Pt (d) gdf =

Sahyadris is also known as ?

(@) Aravali (b) Western Ghats
(¢) Himadri (d) Eastern Ghats

85 WE I HlaA & eant & s o ¥

The gas filled in a weather balloons is

(a) Fifa Neon  (b) &S/ Helium  (c) 397/ Argon (d) 3T Oxygen

collegedunia:s
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68.

69.

70.

14

T aeal i JOE HEgFATE

Growing children need more of

(a) Fraigrgse / Carbohydrates

(by Ta=fA=/ Vitamins

(c) W&/ Proteins

(d) @&r/Fats

offee 9 7 gara # @l A Iy oo Sl 87

Which gas is dissolved under pressure in soft drinks?
ST+ / Oxygen (b) T+ STEHTFAEES / Carbon dioxide

(@)
(c)

g7 A HEH A {6 a1 WA arg AT & HTOFIY T 471 FeT S 27 |

Who is the lowest ranked Air Force Officer among these?

(a)
(b)
(c)
(d)

Arserste / Nitrogen (d) @3+ / Hydrogen

faaT FA13T /Wing Commander
a9 & /Group Captain
FerrEeT HITHHY Flying officer
FATSe Afdeae/ Flight lieutenant

FFATa il & & Sier 71 UsET ga 7
Which of the following is a national festival?

(@)
(b)
(c)
(d)

SUTdT /Baisakhi

aoras i@ /Republic day
qlerel /Pongal

©35 ga/Chhath puja

3T A A A 68 &7 7 Aae R Sfar?
Dr. Amartya Sen won Nobel Prize in which field?

(@)
(b)
(c)
(d)

HAAFA /Economics
nfa /Peace
HAA fas=a/Chemistry

wrfgcd/Literature

—

Class VI -SETA
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15 Class VI - SETA

71, 3eadr ya AR @ g7 & & d AT e fr e s Srarg ?

The imaginary line drawn half way between North Pole and South Pole is called
(a) @ 3@T /Tropic of Cancer

(b)  TFec FHET @M /Equator
(c)  3kfea Wehel/Arctic Circle
(d)  3eThies adhel/Antarctic Circle

72, gl ST §EH 97 HBAS §
The largest Island in the world is

(a) e /Australia

(b)  #gsiels /New Zealand
(c) IMTi8/Greenland

(d) #Hionfas/Mozambique

73 gfera &1 gad &3 T, gfftor 7 FEl fRua g

The coldest place in world, lying in the south frigid zone is

(a) IMNFTA3 /Greenland
(b)  3teTRfes /Antarctica

(c) HrEefaAT/Australia

(d) gl /New Zealand

74, ¢6h W OB & AfaveR fhae fear?
Who invented telephone in 18767

(a) UATSIEY AEH o /Alexander Graham Bell
(b)  SiFw RBe=hr /James Hickey
()  IATETEAT At /Guglielmo Macron
(d) @ dS/Logie Baird :
75, R ST ol god i@ # e asw e g2
'‘Ghoomar’ is a popular folk dance of which of the following states?
(a) TSTEUTE /Rajasthan
(b) HEY wSA/Madhya Pradesh
- (¢)  3I3I9T /Orissa
(d) 3ca¥ 92w /Uttar Pradesh

—
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16 Class VI -SETA

HET_ T - HTST
SECTION C - LANGUAGE
(Only for those attempting English Language)

Read the following passage and answer the questions (Questions 76 to 80)

Midas, the king, was a greedy person. He loved gold more than anything in the
world. He had lots of wealth but he was never really a happy person. .

One day God Bacchus came to Midas. Midas had once helped god Bacchus an
in return Bacchus offered him a gift. “What shall | give you to make you happy,"Gos
asked him. Midas thought for a while and then said, “Please give me the power to tu
everything | touch into gold.” Bacchus laughed and said, “Your wish is granted. As soo
as the Sun rises tomorrow, you will have the golden touch.”

The next morning Midas woke up, and he had his golden touch. He touched
bed, the chairs, doors, windows and all became gold.

Suddenly, he felt very hungry. He sat at the table but as soon as the foo
touched his lips, it turned into gold. So did the water. It seemed he could no longer e
or drink. After some time, his daughter came to him. When he put his hand on her, ¢
became a gold statue. In the end, Midas became very sad and prayed God Bacchus
take away the golden touch from him.

76. What kind of man was Midas?
(a) a greedy person (b) a great miser (c) a brave man (d) wise

77. Who came to Midas one day?
(a) God Jesus (b) God Bacchus (c) God Zeus (d) God

78.  Why did Bacchus offer him a gift?

(a) because he had helped God once (b) because he had pleased Bacchus
(c) because he had annoyed Bacchus (d) because he cared for Bacchus

79. What was Midas' wish?

(a) To become rich (b) To turn anything into gold
{c) To turn his daughter a golden doll (d) To become powerful
80. Who turned into gold statue when Midas touched?
(a) daughter (b) son
(c) uncle (d) aunt

Rearrange the following words/ phrases to make meaningful sentences. Choos
the correct sequence. '

81. it (a)/ life is (b)/ what we (c)/ make (d)
(a) abed (b) cdab (c) dabc (d) beda

82. gold (a)/ is not (b)/ glitters (c)/ all that (d)
(a) abed (b) cdba (c) dabc (d) dcba

'

—
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17 Class VI -SETA
83.  playing (a)/ in the (b)/ park (c)/ children are (d)
(a) abed (b) beda (c) dabc (d) cdab
Fill in the blanks with the appropriate option.
84.  Etherwork hard __ give up studies.
(a) nor (b) or (c) and (d) but |
85. Heis afraid the dog.
(a) on (b) of (c).in (d) by
86. He ___ tea every morning.
(@) drinks  (b) is drinking (c) drank (d) drunk |
87.  The child has been missing ___ yesterday. |
(a) for (b) of (c) by (d) since
Do as directed |
88. Johnismy ___ brother (Find out the correct adjective) |
(a) elder (b) bigger (c)old (d)young |
89. Frenchis ___easy language. (Select the correct article) il
(a) a (b) an (c) the (d)none |
90.  Ashok ___ him yesterday. (Write the correct form of the verb)
(a) meet (b) met (c) willmeet  (d) is meeting
Choose the most appropriate option.
91.  Which word means nearly the same as ‘'sufficient’?
(a) infinite  (b) adequate (c¢) merry (d) surplus
92.  Which word is the opposite of ‘simple’
(a) complex (b)easy (c)obey (d)show
93.  Alist of books in a library
(@) monologue (b) dialogue (c) catalogue (d) diary |
94 Find the feminine gender of ‘horse’. |
(a) mare (b) doe (c)ewe (d) ram |
95.  Choose the word which means the opposite of ‘RISE’
(a) fall (b) smooth (c) pride (d) rash
96. Choose the word which means same as '‘GRIEF"
(a) cheerful (b) sorrow (c) happy (d) injury

—
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18 Class VI - SETA

97  One who does not believe in existence of God

(a) theist (b) pacifist (c) ascetic (d) atheist
98. The match has been postponed _ it has been raining outside. (Supply
Conjunction)
(a) so (b) because (c) therefore (d) and
99.  This is the boy parents have died. (Supply correct Pronoun)
(a) whose (b) who (c)whom (d) his
100. He doesn't help the poor, ~ ? (Use Question Tag)
(a) did he (b) does he (c) doesn't he () do he
AT T - HTHT
(Fraer =t war F gfter et & )

w3 & amr Ru nw Awet F @ oRE Rwew &1 9gw fIfE -
76. SAr S g T Er
(@) FFHONT (b) TFH Wi (c) FHIUT (d) Aoy

ey 3 & o wdt Roferds = (Ree) & 9g7 S

77. I
(@) 491 (b) |T (c) WATHT  (d) T

ﬁﬂﬁﬁﬂﬂﬂ*mﬂﬁ'ﬂﬁ-ﬁﬂ? (frFew) &1 =g+ FHifE

78. UTHAR :
(a) UW+3HT (b) UT+AHAR (¢) T+THaR (d) GTHT+ 34T

frer Trfle 3=y W g SuwT % Wt fAwer & 99 FA
79. w©E@HAE
(a) & (b) c)ad (D) ¥

y® w3 & amt Ry e Rl F F sfag fwew 1
80. e i ¥ F-W W& ‘T = FH UAGAH WE 72
(@) F9r (b)) WA (c) € (d) &t

81, “Iuani weg ¥ Aew wu
(a) Ferraardr (b) TRNwENR () FlwEnft  (d) srqwaEnd
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19 Class VI -SETA

Fer arat / e wg % g Ru o Rwet F & sRw =g &1 99w =Y

82. W wH@r ¥ amg @y
(a) 3USEE (b) w3 (c) UImEE  (d) wIEHE

83. udw Fw T & forg vt F Pl wel/anpt @ qasfafeuw =t . fwedr §
=T/ H / F@E / AH-GEEE
A B C D

(@)DCBA  (b) CDAB (c)BDAC  (d) ADCB
84. Ruwu y=Et &t wEt ad T F 9y fEew w g =51

(a) STt (b) =My (c) snfeft  (d) afRfF
feer F e & v Suge Reer T

85. 3% WINT3N HY FEAIE ——mmmm e
(a) W Wt (b) =g wndt (c) Rw wnft  (d) wepw wndt

U & 3t Ry Rt F § SR fwer w1 www fift

86. = o & whw—ar v “wquy = yafaardt W 2
() gt (b) 3Fr@r  (c) 3qd  (d) sRadty

87. =W & sh-wr 3= e &1 uafyart 78 & 2
(a) TIF (b) @®w ()@Y  (d) T

FrEleiRea e &) amryde sear yB g vt @ fay wdl Raey gfig( g
g8 ¥ 92) : |

gred e 7 AR ger @ Ye—wran @ a1 | W@ wree ¥ gwaRe YT @) wEe
¥ 2| g & T sl Y o W ad <amf armer & R s Wi @ o 81 iew
W.WW.&W.W,WMWW#Wﬁﬂﬂ%W%ﬁWﬂW
w9y o A R, f5g e N o ol wa @ iy A ve o @ ) o @
WG aE, I8 46, N A, H W, @ of, 2 oy, a0 ol B am w3 A
FARATE 2AER IRd ¥ | NSWT B TH ded B Mern @) sher & R $ uEr 3
Riemr 8 ety R @ wew @ Uiy TrTeEEr I@= Y F1 AT 9 2 |

e o
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20 Class VI - SETA

88 U ¥ HIMG BT ATER DAl UT?

(a) TRITHT (b) wanefi (c) Frearaql (d)
89  ¥MY ¥ yR® dg & Il e @ 7

() g¥av A (b) ¥ 7= A () wreTgweT A (d) Trgait =
g0 v ww @ T @ 9y o fAdy fRar ?

(@) w4 W= A (b) weTgest A (c) gvax A d) Es 3 |
91  gfar & W el @ W dE ?

(a) g¥rTeTY (b) = (c) =4 (d) waref
02 WA H B WEwd @ Ui SITeEdT S BN & USHHT W @ 8?

CIRELL (b) agen (c) s (d) a4
frefafaa e &1 EifdT w9 gfg-
93 Hfe

(a) =i (b) Hfaan (c) @afd= (d) sfw=

fr=ifefaa 3 gfesiT wreg 2
94 ‘RifEar w= @1 sgTgA U 2-

(@) fafEar (b) fafsa (c) & (d) fafear
95 Y&l P YU HY BT FUA DI

(@) g=arg (b) er=yamarg (c) e=umare (d) srgar=
aerEl @1 wd aef gfg—
96 aiftd fRor

(a) a7 SawiR HeT  (b) F8A AR FA (c) qgd WA Fen (d) wga e

97 e S

(a) a9 w&A (b) amex &= (c) &R W= (d) g s
98  UaE &F gt
(a) fagamit (b) T (c) Temeft (d) Fréera
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21 Class VI - SETA

Reitn wres gfey—
99 g
(@) worm (b) 35T (c) e (d) from
100 YRl B HAER waled & v Ree gihe-
(1) (2) (3) 4)

= & / qE-g@ o1 ew / R o @/ Rafd w®

(@) 1.2.34 (b) 2143 (€) 2341 (d) 2413

EEICIM 11 AL L L G B E
SECTION 'D' : INTELLIGENCE TEST

101, If CATTLE is related to HERD then SHEEP is related to___. |
CATTLE @1 3 §at HERD # & &% 3¢ & SHEEP F1Hay & Ty g

CATTLE : HERD :: SHEEP : ?

(@) FLOCK (b)) SWARM
() SHOAL (d) MOB

102. Choose the alternative that has the same relationship to 09 as 07 has with 56
A & ol wEar AEen F 07 e & S HEw 56 & @y g, 8% 3 & 3uR w09
deur ¥ v ‘2 vue W Ru v Resdt & & S & g aer Reea gon |

07 : 56 ::09 :?

(@) 5S4 (b) 81 {C) a7 (d) 99

103. Choose the alternative that will continue the number series below:-
3 ey Y g S A & Il dear e O

o, 11, 17, &3,'¢

@ 31 (b 29 (c) 28 (d) 35

—
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104. If you fold the transparent paper along the dotteﬁl line in Figure ‘X' which
alternative figure from A, B, C and D would you get?
afe: rRalt AR 9T @eft X HTRY i R & T e AT oA alt o e T e

105. Choose the word which 15 least lrke the other words in the group.
W!Mﬁgﬁﬂa'rqa‘tmﬁt:rﬁoﬁ:‘maﬂml -

(a) BAKE by, PEEL ' (& FRY ° (d) ROAST

106. Which of the following diagrams indicate the best relation between India, Hagyana and
World?
- mﬂmmm#ammmwhrmunammm*mﬂmmﬁahm

©o ¥ 9 1 ©

(a) (b) (c)

107. Choose the word which is least like the other words in the group.
30 e @ Gy S gEY v & wWE ¥ A w7 e |

@ VIRGO ) PISCES () CANCER (d) ORION

108 If STATEMENT is coded as TNEMETATS then POLITICAL will be coded as
st STATEMENT & TNEMETATS fvar simar @ @@ POLITICAL REFE [/ aTn?

(@) LACITILOP (b) LCATILIOP (c) OPILITACL (d) LACITIPOL
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23 Class VI - SETA

Figure 'X' 15 embedded in any one of the four alternative figures A, B, C or D.
Find the alternative which contains figure ‘X' as its part.

A R e fagest A, B, C 3t D 3 ¥ Rl ves Raew & gt X' angpfay ot g ¢ |
37 fawey @ gfev Fwt X wefa Bl o s 3 ol g k|

LR
1 2
-
@4 &
' _®" -
& =
L -

X ST A (b) B ©)C (@ D

If ‘A" means add, 'B' means subltract, 'C' means multiply and ‘D' means divide,
then what would be the answer of the equation?

A AT H THT FEAT S, B H G HG S, CCE) IV FJET ST, TUT D H HAT
AT F, T A & Y wwTor 1 Iea Far e

ISDSC2A3=
(a) 13 (b) 11 (C) 03 (d) 09

Five men A, B, C, D and E read a nowspaper. 1The one who reads first gives
it to C. The one who reads last had takcen from A, E was not the first or last

to read. There were two readers between B and A. Who read the newspaper
last?

qig W A, B, C,D 3T E & WA wg W &1 3 Ay Yed @a wear f 9 C R
HEEAR & &A1 ¥ FOwe wa® 3 A 92 30 A T FEAR 1G9 E A ar Y 538 uw §
R AT & Fad 3 1 B 3t A & @iy A & ws® A #awd H#Ha 3 swan e ua?

@ A (b) B € C d D

Choose the alternative that has the same relationship to 16 as 12 has with 168.

A & A FEEAEEr F 12 FEur & S FEy 168 ¥ e ¥, &% 30 & Ui 9 16
&0 & BT ‘P ' 9T BT v Reat o O w1 i der arsr RS g ?
12 : 168 =18.:2

(@) 232 (b) 256 (C) 224 (d) 208

—
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24 Class VI - SETA

113. If you fold the transparent paper along the dotted line Figure ‘X’ which
alternative figure would you get?
afe arEaft oy @ X e @ Reg Yar & sur ov Agr I & &g Re e e
| fawey g & wae gul 2

X (a) (b) (c) (d)

114. 1If in a centain code DEAF is written as 3587 and FILE is written as 7465 then
IDEAL will be written as?

37T DEAF &1 3587 for@r Smar g 3 FILE &7 7465 T@@r arar & a9 IDEAL $a
=rar srem?

(a) 43568 (b) 43586 (c) 63548 (d) 48536

115. Choose the word which is least like the other words in the group.
39 e W g S qEY Rt F weE ¥ A A8 @ |
(a) PLASTIC (b) WOOL (c) PAPER (d) WOOQOD

116. If we arrange the given words in alphabetical order, which word would come at
last place, choose the correct alternative?

mhm@ﬁmtmtmaammmmmmamm
T 9T JUa?

(a) ROBBER (b) RANDOM (c) RESTRICT (d) RESTAURANT

117. Choose the alternative that will continue the number series below:-
38 eeT &Y 9 S A & s gEer & gt S
11. 13, 17, 19, 23, 25, 7

(a) 27 (b) 29 &) 31 (d)y 33

118. Choose the correct alternative that has the same relation to BMJ as HSY is to
EPV

mﬁmﬂiﬁm agr §99 BMJ @ & &Y WiEw HSY &1 EPV & &
BMJ : ? : : EPV: HSY
(a) DRM (b YJG (c) EPM (d) EON
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119. Which of the following diagrams indicates the best relation between Flower,
Lotus and Rose?
AT few e R 31 F Fler ar o9 G, wee si e 6 wew 9 3eas w1 A farg 2

9 00 @ (P

i \

(a) (b) (c) (d)

120. Choose the alternative that has the same relationship to 11 as 49 has with 07

A & iy FwArsEeT A 07 WEaT F S Haw 49 ¥ wr ¥, S 36 & YR R 11
FE & AT 2 TU= oY RBU 1w et A @ #ta o Fear arer Resa g 2
07 : 49 11 : ?
(a) 111 (b) 90 (c) 81 (d) 121
121.  Choose the word which is least like the other words in the group.
3 A H GRS gAY el & wHp d AT a@ @ |

(@) GREEN  (b) PINK (©) INDIGO  (d) VIOLET

122. If X is the brother of the son of Y's son, how is X related to Y?
 ERX'Y FRFEFEEAX FY AT AETE ?
(a) Son (b) Brother (c) Grandson (d) Cousin

123.  Area of rectangle is 48m®If the length is 6 m then breadth =

mm@mmm&mgmﬁmmsmammﬁw_m
(a) 13 m (b) 6 m (c) 10 m (d) 8 m

124.  The priest told the devotee, “The temple bell is rung at regular intervals of 45 minutes.
The last bell was rung 5 minutes ago. The next bell is due to be rung at 7:45 AM” At
what time did the priest give this information to the devotee?

@Y sEA A alen “FRY fr avdy 45 P F FufRg dave W oot o & Rod
wqmmmmm.mmwm.ww o SR, qondr |
IE Jue o asl Y ?

(a) 7:00 AM (b) 7:05 AM () 6:55 AM (d) 7:40 AM

—
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125. If in a certain coce MBS is coded as ODU then BRL will be coded as?

s MBS &1 ODU frar oimam #aa BRL  &3# forar smon?
(a) DTN (b) DUN (c) CSM (d) CTN
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